
Fonction Formule(s) Dérivée 
 
 

𝑙𝑛(1 + 𝑥)
𝑥 − ln	(𝑥) 

 

(ln(𝑢))- = 	
𝑢′
𝑢  

 
(0
1
)′ = 	0
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𝑥(𝑥 − ln(𝑥)) − (𝑥5 − 1)(ln(1 + 𝑥))
𝑥(𝑥 + 1)(𝑥 − ln(𝑥))5  

 
 

𝑥5𝑒738
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(uv)’= u’v+uv’ 
 
∀k∈ ℝ , (kf)’= k f’  
 
(𝑒=)’= 𝑢′𝑒= 
 
 

1
2 𝑥𝑒

738(2 + 𝑥) 

 
 

sin(√𝑥5 + 1) 
 
 

(sin(u))’=u’cos(u) 
 
(√𝑣)’ = @-

5√@
 

𝑥
√𝑥5 + 1

cos	(D𝑥5 + 1) 

 
 

𝑥 + 1
𝑥 − 1 ln	(𝑥) 

 
 
 

(uv)’= u’v+uv’ 
 
(0
1
)′ = 	0
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−2𝑥 ln(𝑥) + 𝑥5 − 1
(𝑥 − 1)5𝑥  

 
 

(
𝑥 + 1
𝑥 − 1)

7 = 	 𝑒7EF(
7G8
738)	

 
 

(𝑒=)’= 𝑢′𝑒= 
 
(uv)’= u’v+uv’ 
 

(ln(𝑢))- = 	
𝑢′
𝑢  

(0
1
)′ = 	0
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(ln H
𝑥 + 1
𝑥 − 1I + 𝑥(

−2
𝑥5 − 1))(

𝑥 + 1
𝑥 − 1)

7 
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Une primitive de 𝑢′𝑒= est 𝑒= 
Ici 𝑢(𝑥) = 	𝑥5 et 𝑢-(𝑥) = 2𝑥 

 
𝑥𝑒74 = 8

5
2𝑥𝑒74 

 
 
ln(|𝑥 − 2|)−8

5
ln(J𝑥 + 8

5
J) 

 
 

Une primitive de 8
7GK

 est 
ln(|𝑥 + 𝑎|) 
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735
− 8

57G8
 = 8

735
− 8

5(7GM4)
 

 
5𝐴𝑟𝑐𝑡𝑎𝑛(𝑥5) 

 
 
 

Une primitive de =-
8G=4

 est 
Arctan(u) 

Ici 𝑢(𝑥) = 	𝑥5 et 𝑢-(𝑥) = 2𝑥 

 
8S7
8G7T

 = 5 57
8G7T

 

𝑥 + 1
𝑥 − 1 

(0
1
)′ = 	0
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 −2
(𝑥 − 1)5 



 


